	
	AEU   Modul 1 Problem sommer 12
	

	Opgave.
	Udregning.
	Resultat.
	Point.

	1.
	40 - 35
	=   5 kr.
	3

	2.
	(2·35) + (2·40) + (2·60) + 55 + 50
	=  375 kr.
	4

	3.
	(60 + 55 + 50)/3
	=  55 kr.
	4

	4.
	π· 0,82 · 2,5
	=  5 l.
	4

	5.
	25 · 0,75
	= 18,75 l.
	4

	6.
	900 - 750
	= 150 kr.
	4

	7.
	Tegnet på millimeterpapir
	
	5

	8.
	4 · 10
	=   40 m2
	4

	9.
	0,8 · 1,2 
	=   0,96 m2
	3

	10.
	1,2 - 0,8 
	=   0,4 m.
	4

	11.
	Tegnet på millimeterpapir
	
	5

	12.
	13 + 6
	=   kl. 19:00
	4

	13.
	π· 150
	=  471,24 m.
	4

	14.
	π· 752
	=   17671.46 m2
	4

	15.
	150/15
	=   10 gange større
	4

	16.
	 (17000 · 0,001) + 4
	=   21 kg.
	4

	17.
	9 · 4
	=   36 stave
	4

	18.
	360 / 36
	=   10 grader
	4

	19.
	150 · 7,4386
	=   1115,79 kr.
	4

	20.
	Internet: 1415,79 kr., Jydsk: 1500 kr.
	=   Internettet
	4

	
	
	
	


